NO.8 200m{EAARL —

(1#8] [F2$%]) (&%) [H#)
1 A KRFEE xF 1#% 4:31.00
2 IB[RIEK xF 145 4:31.00
3 ARVED TF 14R 4:31.00
4 £00&KY xF 1% 4:31.00
5
6

[248) [F2#%] CGH) [H#]
1
2 FZAEKT xF 14R 3:49.00
3 KAHE F 1% 3:49.00
4 SEIRERE xF 1% 3:49.00
5EZtE xF 14R 3:28.00
6

(3#R] [FE#%] CGHD) [H#)
1 IUTEE BF 14k 4:31.00
2 5EMERE BF 14R 4:31.00
3 BIIRR BF 145 4:31.00
4 Bl AYAFS BF 14R 4:31.00
5 &[5 5F 1% 4:31.00
6

[4%8] [F2$%]) (&%) [H#)
1 dbAE 5F 1#% 4:31.00
2 =ERF0E BF 145 3:49.00
3 RHIKZE BF 14% 3:49.00
4 & i BF 14k 3:49.00
5 BARIENS BF 14% 3:18.00
6

(5481 [FE#%] CGHD) [H#]
1
2 BEiEiIEI# BF 14R 3:18.00
3 RFEuE BF 1% 3:18.00
4 HFBE 5F 1#% 3:18.00
5 ZEZAER BF 14R 3:00.00
6




NO.8 200m{EAARL —

(64A] [F2#x]) (&%) [H#)
1
2 FEATTESE xF 145 3:28.00
3 FARHF xF 1#% 4:30.00
4
5
6

(1%8) [F2#x] CGH) [H#]
1 EHEILME F 3k 1:12.00
2 AR FI xF 3k 1:12.00
3HETE xF 3k 1:12.00
4 5FE xF 3%k 1:12.00
5 IRAFIIK xF 3k 1:04.00
6 /NEEE xF 3k 1:04.00

[248] [FEx] CGHD) [H#)
1 aEER BF 3k 1:20.00
2 INLERES BFx 3%k 1:12.00
3 LHEA 5F 3k 1:12.00
4 LOEHR 5F 3%k 1:12.00
5 )I[IEFpESE BF 3k 1:12.00
6 A3 BF 3k 1:04.00

(1#8] [FE&x) (&%) [H#)
1 #RIRTE xF 3k 1:20.00
2 PHATTEEE xF 3k 1:20.00
3 FAEREEIEN xF 3k 1:20.00
4 HWEFIK F 3k 1:20.00
5 B E xF 3%k 1:01.00
6

[248) [FE#x] CGHD) [H#]
1
2 HHKF BF 3k 1:20.00
3 RIRE M BF 3k 1:20.00
4 BiZi BF 3k 1:20.00
5
6




NO.10 50m k¥

[3#H] (F2#x) (&%) [E#)
1
2 R ERRG B5F 3k 1:20.00
3 R BF 3k 1:11.00
4 WS;E 42 KER BF 3k 1:11.00
5 KF—ib BF 3k 1:11.00
6
[4#H] [FoEx] [#&5E] [HE%]
1
2 FHEFE TF KR 1:09.00
3 FEn 5 ZF 3k 1:24.00
4
5
6
(Fo#x] (#&7E] [E#)
1
2
3
4
5
6
[F08%] (&%) [E#)
1
2
3
4
5
6
[FoEx] [#&=7E] [HE%]
1
2
3
4
5
6




